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2- Write short answers to any SIX questions:

ii- Find the square root of 49x2 + 112xy + 64y2
by factorization.
iii- Find H.C.F. of x2~4 and x>+ 8

iv- Define quadratic polynomial with example.
v- Factorize 9a% - (b + ¢)?

vi- Factorize . x?+ 7x+ 12

vil- Define unlike surd.

viii- Simplify (=2 + +/3)(=/5 + 5)

. 1
ix- Find the value of (X +—) if x =3+ /8
X

(2x6=12)
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i- Find L.C.M. of 3a%b?c® and 5a2b35 by factorization.
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3- Write short answers to any SIX questlons: -27—:{/‘“&%?/‘?[_.:,0!/(6) & c_Jf «3
i~ Solve: o3x 4% = 4 Y . + 4—X =4
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ii- Define absolute value with one example. “E B L éf._,u,;J.:,{ e
iii- Solver  |x-3]|=4 S |x-3]=4
iv- Solve: 2x? =3x

v- Solve x%+7x-8=0 by factorization method.

vi- Define non-singular matrix with one example.
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Vii- Find 'x' and 'y’ i =
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Vill- Find the product of matrices [2 3 ]=’ L 3}

ww acll 3] go[4 7 }
: = 4 *g1° _-6 2 ,thenfind B+A

4- Write short answers to any SIX questions:
i- Define complemeﬁtw angles and give an example.
ii- Define tangent of a circle.
lii- Define central angle.
iv- Construct a square whose one side is 5 cm.
V- What is meant by orthocentre of a triangle.
vi- Find area of triangle whose sides are 5, 12 and 13.

vii- Find volume of a cube of side 4 cm.

viii- Find distance between pair of poinfs_ (a, ~b), (b, -~a).

ix- Define non-collinear points.
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(@) Resolve x?+y2—4z%+2xy into factors.

(b)

(a)

(b)
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If x = 2++/3 then find the value of
0 m—t and @ x2+L2
X X
Sl o w2 3
mplify:  — + —— —
PillE a a-+l a+2
x=2 2 x—-4
Solve: —— 4+ — <
4 3 6

Solve x2 + mx+ n = 0 bycompleting square method.

The sum of two numbers is 67 and differénice is 3,
then find the two numbers,
Use Cramer's rule to solve'the simultaneous equations:
’ x-3y =5

2x -5y =9

Construct a rectangle with sides 10 cm and 6 cm.

The sidés of a triangle are 15cm, 36 cm and 39 cm.
Show that it is aright angled triangle,

Show that the points A(-1, 1), B(3, 2) and C(7, 3)
are collinear. :
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11- i 15> 10 and 10 > P then relation between P and

P <15 (D) P<15 (C)
12- If P(x)=x° -2x%+ 5x + 1, then P(1) =
0 (D) -7 (C)
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15- The number of altitudes ‘in a triangle is
2 (D) 4 (C)

113«(11)-222-45000

sl bl e,

-A Jizg

symmetric gﬁﬁ (A)

e bl A i Al=

transpose J;g.’;l) (C)
“uw S oo e 10

order2  »» (B) sameorder (anutf (A)
1605 6P obn L 15 41 P In 105 P 4l 155 10 Ji 11

P 215 (B) P>15 (A)
ned P I P =P - 2+ Bx 4 1 12
-5 (B) S (A)
S x2-1=0_13
{1} () {1 o
e O < el 14
(B) lessthan < bAe (A)
(D) less than or equalte <.l < e (C)

Ul Qi L sl 15

1 (B) 3 A



General Mathehatics

Paper: II (ﬂvu‘lb/ « II &) Ysbe) 222 Il ge U"&/ (Jﬂ
Time: 2:10 Hours Group: II \..T.«Jfl/u & 210 o5
_ Marks: 60 Subjective (i 60 : U4

e L
quj’Qﬂ Zection I
2- Write short answers to any SIX questions: (2x6=12)

i If P(y) = y'4'+%y3 —y? +1, then find P(-2)

- Simplity —> S 5—2—
—d“+ ¢

- Simplity  (+/2 +6)(5~V/5)

iV- Factorize - y - X + ’x3 ~ Xy

v- Define surd with example.
vi- Factorize 14+27x3

vii- Find H.C.F. of 14a2bc, 21»51152 by factorization, -

vil- Find L.CM. of x2yz, xy2z, xyz? by factorization.
ix- Write the name of methods to find square root of

) algebraic expressions.

3- Write short answers to any SIX questions: (2x6=12)

i~ Solve 3x+ 3(x+1)~69 =0
ii- Solve V2x -1 =5
i- Solve  |2x-3]=5

iv- Solve .3(x+5) >2(x+2)+8

V- Solve x? — 6x + 5 = ( by factorization.
vi- Write X(7+ 2x) =3(2x+7) = 0 in the form
of quadratic equation.
vii- Define a square matrix and give an example.

307 [w x| [2 1
. Viii- _Find x,.y, z,w if -1 5§ + y oz B 6 -3
| 2 0
iX- Find multiplicative inverse of‘l\r 1 3}

4-- Write short answers to any SIX questions: (2x6=12)

' i- Define diameter of a circle and draw its figure.

ii- Find the value of 'x' in the given triangle;
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S 3x+ 3(x+1)-69 =0

“ESS ax-1 =5 -

JELS12x=31 =5 i
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iv- Define orthocenter.

v- Construct a‘square whose each side is 3.5 cm.-

vi- By using pythagoras theorem find C.

("5cm
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vii- 8, 17, 25" are sides of a triangle, verify that triangle -

is right angled or not.
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viii- Describe the location of the given points in the number plane: ?ujd"l: ubfu! $5 (7, -5) (i) (~8,-8) (i) b _viii

(0 (-8,-8) (i) (7,-5)
ix- Find. the distance between the points (2, 1), (=4, 3)

-’c.ir:""J—vU@w Z (2, 1), (-4, 3l _ix
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5- (a) if L 3-4/2 , thenevaluate
X

) 1 . 1
() X+ — and (i) x— —
X X

(b) Resolve ¢2.4 6bc+9b2 —16x2 into factors.
6- (a) Sove 2x — 1-+x—4 = 2 '

(b) Find H.CF.of x3_ 8, x2+ 10 ~ 7x by factorization.

.7~ (a) The sum of two positive numbers is 12 and sum of

whose squaresis 80. Find the numbers.

() 1f A= F —1
¢ 2 3

A2 4A+ ST =0

:l , then verify that

' 2
8- (@1 M= [3 - 4] , then verify that

MM =MM!
- (b). Draw a circle passing through the vertices of an
equilateral triangle with length of each side 4 cm.

9- (a) An equilateral triangle whose side Is 8 m, then

find the area. T

(b) Show that the points A(D, 2), B(3, -2¥and -C(0, -2)
- are vertices of a right triangle.
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